Advanced Algebra HOMEWORK 8-1 to 8-2 Mrs. Dunphy
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1-6: Write an equation for each relationship described using either the variables given or variables related to
the statement. Use k as a constant or proportionality. DO NOT use x and y as general variables. (2 pts ca)

1. m varies directly as n 2. g varies inversely as A 3. q varies jointly as b and ¢
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4. d varies directly as e and 5. The stretch of a spring is 6. The frequency of a pendulum
inversely as f. directly proportional to the is inversely proportional to
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. k,e. i kd 0 force applied to it. the square root of its length.
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7. dis directly proportional to e. When e is 3. dis
9. What is e when dis 127 (4 points)
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A) Relationship: &": kﬂ_, 5,—@— kf €.
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8. ais jointly proportional to b and c. When b is
10 and c is 5, @ is 15. What is @ when b 1s 25
and ¢ is 37 (4 points) O~

A) Relationship: OL_':’leC v k= b

B) Solution:

15 =k (10)(5)
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9. The power produced by a wind turbine varies
directly as the cube of the wind speed. A wind
speed of 27 mph produces a power of 750
kilowatts (kW). Find the power produced for
a wind speed of 40 mph.

A) Write the equation of the direct relationship using
variables related to this problem: P
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10. The work done when lifting an object varies
jointly with its mass and the height it is lifted.
When a 100 kg object is lifted 1.5 m, the work is
1470 joules (J). How much work is done
when lifting a 120 kg object by 1.8 m?

A) Write the equation of the joint relationship using
variables related to this problem: }Z (D
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B) Setup and solution: (2 pts)
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11. The resistance of a wire varies directly as its length and inversely as the square of its diameter. A wire
with diameter 4.8 mm and length 80 m has resistance of 15 ohms. A second wire is 100 m long and has

a resistance of 12 ohms. What is the diameter of the second wire? (4 points)
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